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2 - HUHMCASAUMH 3ACAT AAPTbIH A3PT3/139X
BUEUVH TAMMUP, CITOPThIH XOPOOHbBI ZAPTbIH
TYLLIAAA
J99E onnt F aAyraap ayraap & & Y raanbaarap xor

capbiH=f Hbl 016p

ToMussH AByynpX Tyxaf.

TYIMAAX Hb:

Hor., YnaspCaaTap XOTHH J998 ouH Tandaity TerHuCHER
HacaHX XYPSTYmniiE aBapra manrapyynax TomussHufr I998 oHH

7-p capHH 28-Haac 8~p C2pHH 2-HH eIpYYIBN J5pMenuH CIOpTHH
32ajaHn sAByyacyra®,

Xoép, ToMmmparr® TaMupdIun,myvIannits marTHAnI BOﬁMYHaH.
I149300 Terpermfir CHOPTHH apra x9's51uft 3apmrasc rapraxyT
Ha-6o B.llspMaa-n 36BmeepcYTrsit.

TypaB. ToMussHER TeceBufiT HBTHYTH5D, THMIASH 30XUOH

GaTancyrat,

JlepeB. ToMI®BHUAT Y351 CYpPTan 30XWOH GalfyynanTHH
81IIep XOMESSHI ABYYNAXHT MYYTYNUiiH 36BReNI Iaanracyrait.
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i 3\3\ T;wwm mopmﬂ xopoorm I4PTHE € TOOT
E a‘\ Tgs,w;fﬂiva I-p YaBCpant.
® Har, Toummsni’ Teces.
a/ TayvinYmouHE arH&)
I-p Ga’p I3 x 3000 Ter = 39000 Ter
2-p Ga’tp I3 x 2000 Ter = 26000 Ter
-3—-p Gaftp I3 x I500 Ter = I9500 Ter
oyrn = 24500 Ter
& 6/ Myyrunu’H mETHAN
ViacHH myyrd J2 x 6 X 900 Ter = 64800 Ter
¢
Hutr myn = J49300 Ter




Hor. ToMmiaoeuft myyranuftH CYposnIasXYyH

TI. 2pnsH® CuUpsr
2. Barmammax
2, Barxapran

4, BsaméacypsH
5. Basaprort

A. baapxyy

7. AnTaHIAULT
8. AnTaExysar

9. Baspcafixan
I0. Od9rspsxn

TI. Jlop® CYp3H
T2. OypoBCYpsH

BonoBepyyncan
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ThfansEnTH sacar DaprHH IOPTIUSX
- Omenftn Tavup CUOPTHH XOPOOHH NApTHE
6 6._TOOT TYI8anHH 2-p XaBCpanT.
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